1 BAT. sfirzgst

TEIM?
2 HmEYE=EH
3 FE@GELH)
4 BAERIEHNE

TED EESTHEL
Om
U BE - P5E
Om 1.5 =
&L
0
aL
0

OH AT —IUEEtmEL a + (b

R B R HDFIEER

1.5 =

(B 1)

OHR— )L (Kif-JEHAR7—IL 2002)

E‘E’_ﬁ'—gb\ = d
+ d = =]

PRERL Y 8 cmBfN /=P T,

v

BROBEDLS SIMEWNICK > THET 5.

8¢cm ¥

=)
o
3

I=E =
OcmLllF LB ERM 0=
BRE - pEE 0~ 2cm=Eib 1.58
348
TYRLREBIRE#E
BEYRY Epabr vk d:N: P B\ETYRLR
HY 1. 58T MNA~YYRL R
BE(N~3K)
L 38 EERICMAZ. RO az=o8HoyiaE R
HY 1. 58LTF FILI7TS
hERE (4~6)
L 38 EERICMA. RO a=o85oyia ER
HY 1. 5HLTF FAH—
SE(1~10K)

#FL 3R

LERICHZ . RO a=05 oy a E A




